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0. 9(x - 2) = 6(x + 2) X=(O a3
D) Gbx +5) +2(x-6) =62 A=T 2.
2. 3x+2)=x+8 Y= | 25.
13 7¢2x + - 5) = 3(47: +19) X “” 2/%
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e the following. e
I .3(x + =12 X=Q 1. 3(x + BY = Dk o 10) }a =5
2. 4lx +5) = 300 ¥="10 19 3 - (6x~ =) Hx- 9\, X = ~(p
3. 4x =N =20Y =9 13, 3x-5) = 2x+6) = 27
Lo m2x 9 K= D Jo) 1 -9 - sxes) ¥ ~pn
5. Mx+ ) x4 8) Y =2 15, Hx =8 = 2x+3) y =\5
6. 7(x - 3) = 3(2x + 6) - > "5“ 16. 2(x + 4) + 5(x + 3) = 100 Y= & .
7. 6(5x - 3) -2(2x+4) W= I 3(x + 5) + 2(x - 4) = 27 K.ﬂ.(v_:& :
8. 4(2x =3) =28 Y =5 18 4(2x +2) = 5(x+7) ¢ = )
T 6x-n=30 =10 1* s+ 2) =6+ o |
10. 4x - 2= 3G +,1)" X =5 120) 5(3x f 2) = d(x +14), )(;;M
B. Solve the following. :
’ilz; Mx 4+ 1) =12 NE | ?{j: &Qul) 3(x—\> r= 5
2 5(x+2)-30>( L? ;Q\S_ﬂ)z,) 3(x - 6) = 12 K= '
LlE-D =2 =0 - 16- 3(5x -.2) = 9 )(/l
o 5(x-3) =4z +6) y= M 2+ 6) = x+12 k=0 A
s Nx+T) +2x =5 =36 y=5 48 7(6x+2) -7c3x+5))(“|
6. 4(x 4+ 5) +2(x-3) =20 5( =1l 19. 5(x=-'6) = 26x+ 3 L=12
7;, 4(x + 5) = 3(x + 12) ¥ A0 T(x+3) = 3x+7) LFD
" 2(x -9) =x+10 21. 6(x + 3) + 5(x + 3) = 88 X

C x5 4 3(x+6) =53 X7

2(x+2) = (x +°5) \/\7\

5(3x + 6) + 2(x + 3) = 707&//’)\
x+5+2(x+3) =20 A7D
10(x+z)=9(x+s)>< 3’1




